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Solve each problem using a tape diagram.

1) A store had 52 sodas on Monday. If they sold 32 of them on Tuesday, how many would
they have left on Wednesday?

52

32 ?

2) At the zoo a cage had 59 snakes. If 27 were hiding, how many snakes were not hiding?

59

27 ?

3) Mike has $64. He decides to spend $23 on new video game. How much money would he
have left?

64

23 ?

4) At the arcade Tom had won 64 tickets total. He won 22 of them while playing Whack-A-
Mole and the rest while playing Stop-The-Light. How many tickets did Tom win playing
Stop-The-Light?

64

22 ?

5) Gwen had 64 pieces of candy. 23 pieces are chocolate and the rest are sugary. How many
pieces of candy does Gwen have that are sugary?

64

23 ?

6) A chef has 70 cherries. He sets aside 26 of them to make a pie. How many cherries would
he still have?

70

26 ?

7) A clown had 85 balloons. He gave 35 away at a party. How many balloons would he have
left over?

85

35 ?

Answers

1. 20

2. 32

3. 41

4. 42

5. 41

6. 44

7. 50
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